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ED-2373

M. A. (Previous) EXAMINATION, 2021
ECONOMICS
Paper Third
(Quantitative Methods)
Time : Three Hours
Maximum Marks : 100
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Attempt all the five questions. One question from each
Unit is compulsory. All questions carry equal marks.

ShIE—1
(UNIT—1)
1. &g UHHT 9 MY 1 WASd © ? X YHAA B
ATt Ud e @7 § ? AR iy |
What do you mean by Liner Programming ? What are the
characteristics and importance of Liner Programming ?
Explain.
SR
(Or)
SWEA Hold 4 AU a7 FHsd & ? Bold & JhR ol
g ? PI9-TIeTd SUTEH Hold &I AR DI |
What do you mean by Production Function ? What are the
types of function ? Explain the Cobb-Douglas Production
Function.
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THIE—2
(UNIT—2)
2. TR fageror @1 aef fRgu | yduEe & YR T4
SUAAIAT AT § 7 e Td YTora @1l &l eren
HIFTY |

Write meaning of Regression Analysis. What are the
utility and types of Regression. Explain the correlation
Regression lines ?

e
(Or)

X Ty & 4" Fre-dReis & ag 90 gR1 aedey
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X y
58 11
43 27
41 31
39 42
43 30
46 28
43 28
45 20
41 19
47 20
45 32
44 30
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Calculate Karl-Pearson’s correlation co-efficient between

x and y by short-cut method :

X y
58 11
43 27
41 31
39 42
43 30
46 28
43 28
45 20
41 19
47 20
45 32
44 30

Find out correlation by 27 assumed mean for y-series and

45 assumed mean for x-series(in above series).

P.T.O.
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TPHIE—3

(UNIT—3)

3. M=V U4 STV | 3T R A & 7 SIT=IRIvH
Ud RAVE @I AEAN, Agd, Jear ud faRRi &
AT BV |

What do you mean by Interpolation and Extrapolation ?
Explain the assumption, importance, accuracy and
methods of interpolation and extrapolation.

aFerar

(Or)
ferferRad wRo SR geer & A9 TR F FeRar 3R
SRIRT T HAT U IRl @

DITYR golleldliq SIINT
Bl T (BRI H) 244 184 230
HeR (BRI #) 40 47 33
HER R (Hehel H) 3 2 2
PRER SRl (Hasl #) | 40 20 24

SUYad @9 TR H W Udd H AWRE-YgRT R FReR
U B A B ol ol B Ay g BIRY|

The following tables gives the number of literates and

criminals in three cities in U. P.

Kanpur |Allahabad| Agra

Total Number 244 184 230
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(in thousands)
Literates (in thousands) 40 47 33

Literates Criminals
(in hundreds) 3 2 2

Iliterates Criminals
(in hundreds)

40 20 24

Compare the degree of association between criminality
and illiteracy in each of the above three towns by Youle’s

method.
SHIs—4
(UNIT—4)
HTA-ANT & fAZATT & MY FAT FHSA & 2 Blel- AR
@ GUAl Td HEd! B AT DIFTY |
What do you mean by Analysis of Time Series ? What are

the importance and important componenty of times
series ?

3rer

(Or)
Fifda offesl o fher fdena @1 oM @ity der
ﬁ@ﬁg & a8 f5a yeR 9 IShwar W & 6
HIT T

3R Y EREIEEGL
Bl B Lie] B AT
®) (fevm) ®) (feram)
A 30 40 40 50
B 22 20 30 35

P.T.O.




[6] ED-2373

54 15 24 55
20 40 52 45
15 30 42 15

Compute Fisher’s Index number from the data given

below and show that how it satisfies time reversal test :

Base Year Current Year
Commaodity Price Quantity Price Quantity
®) (kg.) ®) (kg.)
A 30 40 40 50
B 22 20 30 35
C 54 15 24 55
D 20 40 52 45
E 15 30 42 15
SHIT—5
(UNIT—5)
5. WiRSIY srgduml d e @l s § 7 U™ yAnT
T dTel feei @1 Agcayel Afdal FHssy |

Why is sampling necessary is Statistical Investigations ?
Explain the important methods of sampling commonly

used.
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SVEI
(Or)

fer=ferfad 4 9 b=l <1 W e fewfrit forfy

(i) PrE-a qErr

(ii) 3Bl

(iii) IRBAT

Write short notes on any two of the following :

(i) Chi-square test

(if) Estimation

(iii) Hypothesis
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P.T.O.



